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61- He left home early................ miss the train.
1) so that he can’t 2) in order that he
3) in order not to 4) so as not
62- Some students like to study hard and earn much more knowledge................ the others prefer to work to
earn money.
1) as 2) though 3) while 4) since
63- s he promised that he wouldn’t be late, he didn’t arrive until 8 o’clock.
1) While 2) Although 3) Since 4) As
64- Are you still here? I’'m surprised at you ; you................ home hours ago.
1) must have gone 2) might have gone
3) should have gone 4) would have gone
65- A: Where did you put your glasses?
B: I don’t know, I ................ have put them at home.
1) should 2) might 3) must 4) can't
66- The lifeboat was ......... immediately to save the four men.
1) constructed 2) launched 3) processed 4) explored
67- Ifindit......... when people eat smelly foods on public transport.
1) annoying 2) addicting 3) suffering 4) struggling
68- One of the noticeable ......... of modern banking is its dependence on computers.
1) units 2) supports 3) features 4) terms
69- They are going to hold a concert to raise ......... for research into genetics.
1) means 2) funds 3) incomes 4) unions
70- We must go out and celebrate your ......... in the department.
1) promotion 2) advertising 3) impression 4) community
71- Some scientists believe there may be a ......... between caffeine and heart disease.
1) function 2) combination 3) contact 4) link
72- Our boss is a powerful man who................ three companies with their staff completely at the same time.
1) handles 2) provides 3) develops 4) prepares
73- She is a very common employee, but she tries to................ the importance of her performance.
1) compare 2) dream 3) focus 4) magnify
74- The new secretary doesn’t know anybody because he has been................ to this branch recently.
1) supported 2) mastered 3) improved 4) transferred
75- Professor Smith works so hard and full time that he has................ himself to his researches.

1) received 2) devoted 3) prepared 4) performed



Cloze test

The United Nations, or briefly the UN is an international organization whose stated ...76... are cooperation in
economic development, social progress, human ...77..., and achievement of world peace. Most nations are
members of the U.N., and send people to the headquarters to hold meetings about global ...78.... .The main
building for the United Nations is located in New York City, with further main offices at Geneva, Nairobi, and
Vienna. The organization is ...79... from voluntary contributions from its member states, and has six ...80...
languages: Arabic, Chinese, English, French, Russian, and Spanish.

76- 1) strategies 2) aims 3) supports 4) signs

77- 1) reactions 2)realities 3) sufferings 4) rights

78- 1) labors 2) effects 3) contacts 4) issues

79- 1) accessed 2) communicated 3)financed 4) composed
80- 1) official 2) complex 3) exact 4) developed
Readingl

News gives us information to help us understand the world around us. Generally, newspaper and broadcast
stations stress news that affect us- -news of government , world affairs, business activities, etc. We are also
interested in learning about usual events and the activities of widely known people.

The news value of an event can be judged by its impact on people, its unusual nature, and the prominence of
the people involved.

The first step the writer takes before writing a news story is to determine its focus or main point. “What’s this
event about?” The writer asks himself or herself. At least nine times out of ten, the answer to the reporter’s
question is that the story is about either:

1. A person who has said or done something important or interesting or a person to whom something
important or interesting has happened.

2. An event that is of importance or interest to many people.

If we look closely at the first paragraphs of news stories in today’s newspaper, we can understand this.

The beginning of a news story, or lead, usually summarizes the main theme of the story. Almost all of the
news begins with a lead that answers one of these questions:

1. Who said or did that?

2. What was it that happened to the person?

3. What happened?

81- The aim of writing news isto .........ccceu......

1) keep people busy in theirspare time 2) inform people of strange happenings

3) tell people solely about rich people 4) inform people of what may happen

82- Newspaper and broadcast stations stress on ............c.......

1) receiving affective news 2) preparing news about rich persons

3) informing people of business life 4) learning about usual things

83- Valuable news is the one that ....................

1) had earlier been broadcast or published 2) has been prepared in several parts

3) reports unusual world happenings 4) makes people laugh and enjoy reading them

84- According to the passage the first thing a news writer does to write news is to ....................
1) think about his news for years before publication

2) rewrite news prepared by other news writers

3) gather information about what he is going to write

4) find the main point of the news

85- The first paragraph of the news is ....................

1) about important people 2) about affected people

3) in fact part of final paragraph 4) a summary of the remaining paragraphs



SO

Reading2

For several hundred years almost everyone has accepted the fact that the Earth is round. Most people think of
it as a sphere, somewhat like a solid ball. Actually, the Earth is nearly, but not exactly, spherical. It has a slight
bulge around the equator, making it fatter there. Measured at sea level, the diameter of the Earth around the
equator is 12,756,8 km.
The distance from the north to the south pole, also measured at sea level, is 12,713,8 km. Compared to overall
diameter, the difference seems small—only 43 kilometers. But compared to the height of the Earth’s surface
features, it is large. For example, the tallest mountain, Mount Everest, is high less than 9 kilometers above sea
level.
The Earth’s shape has another slight distortion. It seems slightly fatter around the southern hemisphere than
around the northern hemisphere. This difference is, at most, about 300 meters.
The shape of the Earth was originally calculated from measurements made by researchers who worked their
way mile by mile across the continents. Today artificial satellites provide a much more accurate and complete
measuring tool. Mathematicians carefully measure the orbits of artificial satellites, then calculate the pulling
force that the Earth has on the satellites. From these calculations, they can make the shape of the Earth. The
slight bulge around the southern hemisphere was discovered from calculation made this way.

86- Research has proved that the Earth ....................

1) is completely round like a ball.

2) contains holes, which are themselves round.

3) is completely spherical as its bulge is.

4) is not completely round because of a bulge.

87- Experts now believe that ....................

1) the views about the Earth held in the past were true.

2) they can not measure the size of the Earth exactly.

3) they can measure the size of the Earth by satellites.

4) northern and southern hemispheres are exactly equal.in size because of the Earth’s being round.

88- According to the passage ......cccccceurueuns

1) the distance of the mountains from the sea equals to the distance between the seas.

2) each part of the Earth equals to other part except the Mount Everest.

3) the only thing causing equality in the Earth is the Mount Everest.

4) the southern hemisphereis fatter than the northern one.

89- ‘They’ in line 14 refers to ......ccceivuneeeee

1) orbits 2) mathematicians 3) satellites 4) calculation

90- The text implies that measuring of the Earth ....................

1) cannot be an easy task even if new instruments are invented.

2) is easy by satellites if put exactly above the Earth.

3) was more exact when done mile by mile across the continents.

4) is exact after invention of new instruments.
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